1 2 3 4 5 6 7 | 8 | 9 10
REV. DESCRIPTION DRAWN DATE
[0] PRELIMINARY TIM 2016/07/28
1 INITIAL RELEASE TIM 2016/09/23
2 CORRECTED TIM 2016/11/04
NOTE:

DATE CODE:6181 (YWWD)
Y : YEAR(2016)
WW: WEEK (01~52)
I D : DAY (1~7)

85.30 To)
Q
o
82.45 L_g
38.00 42.00 . M
0.50 1.00 1.00
PITCH
0.95.3%2 || #S158 e
#S1 0.15 TYP 9 3 7.80 0.7 8 /
15 TP g X S ' 3 3 2
~
..IulllllIIIHIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII?IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIITTIIIIIIIII?IIIIIII?IIIIIII?IIIIIII?IIIIIII?I?IIIIIIIIIiIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIF o 0 'C\) e
I L 1 ~ = t
ol MXM3STD 7.6H 6181 ATTEND [T 5 i
i T , ] o [ 0.65
: | | 3| 2 (0.13)
0.15 Tail |$ 0.2]X 1.25 |1 1.25] NOTE g o . 0.65
#P1 0.50 2.00 = 4.15 4.02
PITCH #P156 o
:_; SECTION A-A
37.75 41.75 - SCALE 2.5:1
i o _
89.2 ”
Copper Alloy,Matte TIN 80u”"MIN.
3 | SOLDERPEG Ni Under Plated 60u”MIN.
A > | contACT C9pper AIon,Contac,t,:Au Plated 5u"MIN.
| Ni Under Plated 60u”MIN.
FIEEEErH e s I ! }\ LT frerereeenn | }\ \}\ \}\ \}H\U\\\}H\ I ll (] (N} HH 1 HOUSING LCP, UL94V—O, BIaCk
; { oo M AR A A : NO.| PART NAME | DESCRIPTION
(LR LEETT TR e T TR TrAen e IIIIIIIHI\ OO0 OO O 0T 0O OO VR VNN OO 00O Tk o | UNLESS OTHERWISE SPECIFIED TOLERANCE
T i ‘ p =_m UNIT:  [DECIMAL| LINEAR | ANGLES ’
i A e I U e ATTEND
$1.50+£0.05 90.80+0.05 mm | x.x +0.25 +3°
N XXX +0.12 +1° WWW.ATTEND.COM.TW
82.00£0.05 DRAWN | TIM 2016/07/28 | PRAWN NAME:
MXM 3.0 314 pin for SMARC
CHECKED | FROS 2016/07/28 0.5 Pitch, 7.8H, Standard Type, Reel
APPROVED | Ken 2016/07/28|PRODUCT NO. | 125B-78C00
-@—a— Si’_\é/El| SHlﬂ 5'2/54 FILE NAME 125B-78C00_B_2

1 2 3 4 5 6 7 I 8 I 9 I 10




1 2 3 4 5 6 7 | 8 | 9 10
REV. DESCRIPTION DRAWN DATE
SEE SHEET ONE
(5.00)
(82.00)
74.0040.05 3.00 MAX.
: : (1.20) | {], 11.30 MAX.
4.00£0.05 37.00£0.05 ) |
72 | 1 rip-—
7an, g, HOLE DIAMETER IN PCB IS R
) Ax 6401 DEPENDENT ON MOUNTING PN NUT
A HEARDWARE SELECTED, B —
INGo. MUST BE M2.5X0.45 THREADED S 3X USED ONLY ON
THROUGH HOLE N 82X80mm MODULE
N
o £ B
= s 2 & T 777 [[\Module
5 & &) 2 |
o ZZ ou ~I1& | ,I,,
o 8 00 S
< N E
o 38 == SN ING:
S Q|
H 40.00 (41.00) o} o L
= o
| [oo (37.00) o Blo i
) o w bl
0.50 o b
D
p H al il
R\ alle ol
#5158 ) NI =1
Ly
T N L o
™
[ve]
3 £
. o]
NEEE | 3 |
M ; 2l 3.00 | H#P1 | 0.30£0.03TYP. #P156 || © Carrier Board
o 1.25 N 0.150O][L[MN] b
- 0.05@|L|PAD TO PAD| 3
[M] X
82.00
3.31 85.31 4-[0.10[L [M|N]
@O 90:‘:0 05 UNLESS OTHERWISE SPECIFIED TOLERANCE
— UNIT:  [DECIMAL| LINEAR | ANGLES ’ ATTEN D
[©]20.100 [L[M[N] X. £0.50 | +5°
mm | x.x +0.25 +3°
X. XX +0.12 +1° WWW.ATTEND.COM.TW
DRAWN TIM 2016/07/28|PRAWN NAME:
MXM 3.0 314 pin for SMARC
CHECKED [ FROS 2016/07/28 0.5 Pitch, 7.8H, Standard Type, Reel
APPROVED | Ken 2016/07/28|PRODUCT NO. [125B-78C00
-@—6— Si’;'f SHZ'/EI 5'2/54 FILE NAME 125B-78C00_B_2
1 2 3 4 5 6 7 | 8 | 9 | 10




1 2 3 | 4 5 6 | 8 9 10
REV. DESCRIPTION DRAWN DATE
1.70 SEE SHEET ONE
RO.5
T NOTES; (APPLIED TO SHEET 3)
) 1. TOLERANCES ON ALL DIMENSION £0.1 UNLESS
- OTHERWISE SPECIFIED.
o 2.P.C.BOARD THICKNESS APPLIES ACROSS TABS
= = ‘9! ',: AND INCLDES PLATING AND/OR METALIZATION.
= | © 45.00°+0.10° 3.FINISH OF PAD : GOLD PLATING 30u"MIN.
b 1.20+0.10 OVER Ni PLATING 80u”MIN.
DETAIL A DETAIL B 4.The common dimension for MXM3.0-TYPE A,B
SCALE 2.5:1 when there is no special mention
_ SCALE 2.5:1 :
78.00£0.05
$6.00 41.00£0.05 3.00MAX.
82.70 4.00£0.05 ii 1.30MAX.
& 57 75 57 Y 7
7~ s 7 7Y
7, 106 - o 1o
7 £l >
2 | €
X | £
8l v © |3 4
a3 a8l 8 COMPONENT AREA 2 L O Q COMPONENT AREA
a9 2 5IDE 5'8 o BOTTOM SIDE
N ol © Q0|
93 NE
O] N é
<+| — ~ o g
10 © E ®
- 2222 gujiy /e
i L i J‘ L
0.50 TYP. 1.00+0.05 L e |
See"B 1.00 1.00
[B] #P1 1.25 See"A"/ | |#P156 #5158 41.00 37.00 ‘#81
36.50 0.354+0.03 TYP. '
39.00+0.13 40.50 & 0.150|A[B]C|
8200:':013 0‘05® A PAD TO PADl UNLESS OTHERWISE SPECIFIED TOLERANCE
UNIT: DECIMAL| LINEAR | ANGLES
el (4@ ATTEND
mm | x.x +0.25 +3°
X. XX +0.12 +1° WWW.ATTEND.COM.TW
DRAWN TIM 2016/07/28|PRAWN NAME:
MXM 3.0 314 pin for SMARC
CHECKED [ FROS 2016/07/28 0.5 Pitch, 7.8H, Standard Type, Reel
APPROVED | Ken 2016/07/28|PRODUCT NO. |125B-78C00
-@—6— Siljll‘E SH;;I 3'2/54 FILE NAME 125B-78C00_B_2
1 2 4 6 | 8 | | 10




1 2 | 3 4 5 6 7 | 8 | 9 10

104.00

REV. DESCRIPTION DRAWN DATE
16.00 SEE SHEET ONE
o 4.00
= 2.00 $1.55
6606060060606006006F060600 Gi PACKAGING SPECIFICATION:
Ml | | | T | 1. PACKING
i i i i i \\ 1.1 Quantity:
} } } } ! \ 350Piece/ Reel
I | | | | | 1050 Piece/ Carton
= = = = = J
— h—
= £ = = =f |
= ®=| B=| Bz Bz
B S 5 B S /
2 | | | | | | L IMA, PEELING ANGLE
iR 1 1 1 w i 104.4MIN.
Q 1 I I I I { | 104, 4MIN.
o i i i i i 165°~180°
) % % % % Bf | T
~ ~ ~ ~ ~ \
a a a a =K
— — — — —
& 0 0 0 o s
) ) ) ® ® T -2 B
= = = = = ! sy S
X > x x >
f i i i =1
| | | | LB
| | | | i l 1 100mm_MIN |
| J) | | | | |
- 0-0-0-010-0-0-0.0 Q} 300mm 350PCS 300mm
‘ EMPTY COMPONENTS EMPTY

1 e

oS
O
©
o
o
r

{

o
O

—
_
 —
—
—
— |
—
R —

PULL OUT DIRECTION [, >

Corner Cushion

AIR CAP
5 AIR CAP /%

Outer Box

UNDESS OTHERWISE SPECIFIED TOLERANCE

o pelwelves| oy ATTEND

X. [>0.50 +5°

mm | x.x £0.25~_ #3°
XXX | £0.12 2 WWW.ATTEND.COM.TW
DRAWN TIM 2016/07/28|PRAWN NAME:
MXM 3.0 314 pin for SMARC
CHECKED | FROS 2016/07/28 0.5 Pitch, 7.8H, Standard Type, Reel
APPROVED | Ken 2016/07/28|PRODUCT NO. [125B-78C00
-@—6— S(’:\ﬁf SH 4'/5‘: 5'2/54 FILE NAME 125B-78C00_B_2

1 2 3 4 5 6 7 I 8 I 9 I 10




10

Recommended Layout (top view)
General Tolerance: £0.05mm

REV.

DESCRIPTION

DRAWN DATE

1 |INITIAL RELEASE

FROS 2016/07/25

$5.00+0.05 Co.2 COo.4
|
1
|
g |
<
(@)
+H |
’ |
| ‘ ]
\ 2 | MYLAR 0.1t
8 1 [ NUT Low Lead Brass, Tin Plating
i $3.840.05 M2.5X0.45P NO.[ PART NAME DESCRIPTION
(€] ‘ UNLESS OTHERWISE SPECIFIED TOLERANCE
o
UNIT:  |DECIMAL| LINEAR [ ANGLES
sl melwos] ofly ATTEND
mm | x.x +0.25 +3°
XXX | £0.12 | #1° WWW.ATTEND.COM.TW
DRAWN | Fros 2016/07/25| PRAWN NAME:
Nut, M2.5x0.45P, 5H, Reel
CHECKED | Tim 2016/07/25
APPROVED | Ken 2016/07/25|PRODUCT NO. | 125-NUT-78
-@—6— S%’;'l'E SHI/EIT SIZAE4 FILE NAME 125-NUT-78_B_1
2 4 5 6 I 8 I 9 I 10




4 6 [ 8 [ 9 10
REV. DESCRIPTION DRAWN DATE
1 JINITIAL RELEASE FROS 2016/07/25
Material: C1018, Nickel plating + NYLOK
Packing: Polybag
-
<
=
g\ﬁ\%o 0
s o
51401 Locking Element

UNLESS OTHERWISE SPECIFIED TOLERANCE

UNIT:  [DECIMAL| LINEAR | ANGLES ’ ATTEN D
X. +0.50 +5°
mm | x.X +0.25 +3°
XXX | £0.12 +1° WWW.ATTEND.COM.TW
DRAWN | Fros 2016/07/25| PRAWN NAME:
Phillips Head Screw,
CHECKED | Tim 2016/07/25 M2.5x0.45P, 4L, Nylok
APPROVED [ Ken 2016/07/25|PRODUCT NO. | 125-SCREW
@—a- S%’;'l'E SHI/EIT SIZAE4 FILE NAME 125-SCREW_B_1
4 6 [ 8 | 9 | 10




